Al

Ol &F A

Al A

SA MBD
A NN B2 (LNDDHUE /XL - HENLY)
Cel XIgtKIAo OHE N atE (12l M2
I
SA - B - SASH) - MSALY - ol &t e HIDSZ
NIE 1,210,889 1,281,458 AT70,569
= 189,116
Al 1,021,773
N 2 (LeSSAE/NNLE - THEXIH) 756,559 823,166 A\B6,607
= 189,116
Al 567,443
KSAM=2 H3N &S 543,050 550,746 NT,6%
= 189,116
Al 363,934
NAl HASR2FE X 152,518 188,114 A5,506
201 Let=d] 80,521 91,421 10,900
01 AlR2teldl 79,261 90, 161 10,900
Oget+=ZHI 65,661
o XAl DX HMI= 30,740
-2 (FSAM, SSHAM(SS)) 12X
A 402+90,0000HK 3,600
—MNZ(SSEHSM(HE), NEASAI)
DXIA 402+30,0000HK 1,200
- =AZ2(SSHSAM(25]), XY %HI)
JXIA 40 *11,0000K 440
- A2 (FSAH, SSHAM(SS))2X
A 403 =7 ,5000H 300
~Hl2 SEeEA DXA
402 *50,0000H 2,000
~XISA (ZII2, +AIZ, i) DXA
402 %198, 0000K 7,920
-2 MeMI(H=2, det, =&) 10X
A 4031 %134,0000K 5,360
- ZII2 MAAM(ER, =) XA
403 %105,0000HK 4,200
—=2IA (OHel=2, AtAE) DXIA
402 %143, 0000H 5,720
oXIZM LXA QI & =& 25,160
-8l SEYSIAl QXA
402 +50,0000HK 2,000
~TSIM(FIIZ, +A2, o) DTN
4031%197,0000K 7,880
—HIIZ MAM(AEES, Mo, =) DX
A 402 134, 0000H 5,360
FOUN (OHRIZ, AFZAE) DA
402 *143,0000H 5,720
—ZII2 MAA(ER, =) OXIA
403 %105,0000HK 4,200
o XAl =Al2 DAIA Setl
11&%30,0000H 330
oJ|EF MIAHI 9,431




SA MBD
Hu: FEHY S (UBDTHF/XLHE - HER)
&2l N2A=2 HEX &5 (EEEE))
. = SIE]
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
- NLASAH ADYR QHAZT}
4503 %7 ,0000K 3,150
—HARILASH MDA (2FIHS DA
) 602 *30,0000H 1,800
- NSASH EF U2
1002 *10,0000H 1,000
- A0 EXtUE
2,0003 %1202 23] 480
- XN2Al et2=SAA
7736,50021 %23 1,001
—Ol4Al RELAIT EE ASA
200,000 %104 2,000
ORI u=H| 10,000
CHIRYYTLR Mooz A5t DS
10,000,000 *14] 10,000
O=g=g 3,600
SKTAM Aoz B4 =2
100,0003 9 *43] 3,600
2 s5=34l 1,260 1,260 0
O332= € HAl 1,260
SIHRAXIEASA 2HEY QHHE &5 1,260
—II3t2HI0l 110&%6,00021 660
—KT=2 At 1003 %6,00021 600
202 04l 20,130 24,750 A4,620
01 2LHoIH 20,130 24,750 A4,620
OMLtAl 10 2 23I124=, & WK, |
EXF S ARSZA
10,0002 x5 21 1,050
Ot 210 2 EXI01E AEHZA
20,0002 x5 15 1,500
O &Ml QIR Kel, Ol2Ald & S XIXAL
20,0002 x4 152 1,200
OMAEAl BIFAI, 2= SHXIZA
20,0002 x4 10 800
OMAErM 20t 2 datus 2 AR 2
110,0002 x2EH*x2 2 %23 880
OdJI2 MAAl EIIH ER=d SXEd
10,0002 x4 +6 2 +23] 480
OalE FHSH, SEU6IM 28 Ud=SA
Sl 2ol 10,0002 #4 x4 L x 122 1,920
OS=0i5H DATIR 23 o 27
20,0002 x2EH*x4 L +23] 320
OFSH HHMUYSA(EX, A=RE S) &
EHZ=AL 2,160
oXNISHZER AEHZA
20,0003 *3 4L x62| 1,440
oJtEAHE= XA
20,0002 x2EH*32 +62] 720




2 MED
Hu: FEHY S (UBDTHF/XLHE - HER)
Gl XSO OHEE aE (12l M2
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
OUIDtMl ZHUHASA(EX, HFE, IS
S) LHZA 2,000
=&, MA S HIUANl ZHESE JRIE
At 20,0003 *3F 4 2«53 1,200
oH| Al 2 XIS LHIZEAL
20,0003 x2H 4 U +53] 800
OREXH L S2H5IH U LR
10,0002 *4H x4 2 *33] 480
OSEHHAM, NSIAl Hotns A
110,000 2% x2 2 33| 1,320
OBEAS, HBAD 230 (12 B &
ZHABE EA
110,000 *3F x2 2 23| 1,320
OXILASAH ADXZ EXIZAL & EE
20,0002 *4H x4 L 63| 1,920
OFUAI(AILAZ) BHICHA RAF Y =&
10,0003 *3E x4 2«53 600
OXLASM HEHAR) NS FHA
110,000 2 x2 2 33| 1,320
OAIXIE THAHSEFE) AEIEA
20,0002 2 x4 243 640
OXNZHSHAZ 22t SsEHR A
10,0003 x2F 1 220
301 LB NZ 5,000 5,000
14 JIEtE2 43 5,000 5,000
O ==Al SHIHMA Z&3
50,0002 100X 5,000
306 EH= 46,867 36,943 9,924
01 293 46,867 36,943 9,924
OXIZA £&II78 £EH3
46,867,000& *13] 46,867
S22 M ¢ 12,300 14,400 22,100
202 04dl 4,800 6,900 A2,100
01 =LHO4 L] 4,800 6,900 A2,100
Ogeol Al EEXE =&
10,0002 +3E 10 *43] 1,200
OZtU ATH &l MS A
20,0002 *3ZH *10+33] 1,800
Ogol HIAl, 28 22 XA
20,0002 2 x4 2 *33] 480
Ozl ATH Yol HISEA
110,000 *3F x2 23| 1,320
303 ZAa= 7,500 7,500
01 Z&32 7,500 7,500
OXZM &2 SN2 =2 Z& 3
150,000,000 *5/100 7,500
MEEH HE=FE JFZ AL 378,232 378,232 0




SA MBI
M QR S (UUDIHT/TLHE - WEY)
R XA HEH &E (Gt H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 189,116
Al 189,116
101 @124H| 81,283 77,098 4,185
= 40,641
Al 40,642
04 JIZtNZ22 XS24+ 81,283 77,098 4,185
ONEF=HELIAL SHZAA 81,283
oQIfY 78,8803 x4 H 52«34 53,639
= 26,819
Al 26,820
oFxFsd 78,8803 x4 & x345= 10,728
= 5,364
Al 5,364
oW SH| 10,0002 x4 +52 x30= 6,000
= 3,000
Al 3,000
oMY HEFHSHE SXZAF O]
50,0003 x4 H#42 800
= 400
Al 400
oMeEER 7,676,000 14! 7,676
= 3,838
Al 3,838
o1l =H| 100,000 *4& 400
= 200
Al 200
o2tAlH| 3,000 *4Ex170 2,040
= 1,020
Al 1,020
201 fer23| 290,439 293,294 A2,855
= 145,220
Al 145,219
01 AtR2t2lHl 290,439 203,294 2,855
Oget=EH| 283,959
SIHEFEIIH EE2ES MH 10,712
-0 M4
200,000 57 2 +22] 2,000
= 1,000
Al 1,000
—HAUHE 82
80,0003 #33H 2-*32 7,920
= 3,960
Al 3,960
— g2t 6,000& *33H A= *42] 792




AL =L
M QR S (UUDIHT/TLHE - WEY)
&2l N2A=2 HEX &5 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3%
Al 3%
o112 JIE WEES MFIIH AELLE
86,7002 %39,500= 264,650
= 132,325
Al 132,325
©6.1€ J|= HEFE MFIH S+
8,400 »600= 5,040
= 2,520
Al 2,520
SN SHANE BE +=+=2(1.1. /6.1
INE) 8,400&*60= 504
= 252
Al 252
cIHEFE 0|28 HE +=42(1.1. / 6.1.
NE) 27,5008 *30= 825
= 413
Al 412
olISA SSFH ZAER ==
50,0002 x40 2,000
= 1,000
Al 1,000
SIHEFEZAE MEES 7Y
228,000 x14] 228
= 114
Al 114
O=23+¢ 3,600
SHEFEINAZE MO (SSMIHTBA
AH3) 4 =€
100,000 x9& *43] 3,600
= 1,800
Al 1,800
O=gl 8,000&*x3Z*10€~12& 2,880
= 1,440
Al 1,440
202 04t 6,510 7,840 1,330
= 3,255
Al 3,255
01 2L A 6,510 7,840 21,330
OFAXNS HWEFE S8 SHXIZA
20,0002 «3H+82 * 122 5,760
= 2,880
Al 2,880
O=MAIS HWEFE 4 SNEA
50,0002 x3H 5 750
= 375




2 MED
I GENY B2 (UBRDHE /KW - HENL)
&2l N2A=2 HEX &5 (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| | Al 375
NEH =22 & X2ME 323t 213,509 272,420 A58,911
LA 2228 23t 51,448 51,448 0
201 B2 AL| 51,448 51,448 0
01 ArR22ltl 45,760 45,760 0
Oget=2| 45,760
oFIIZ NYAH €2 EESE M (A
REx - X0 S=o5H) 6,240
-S08 840
200,000 *4 I 2~ *63| 4,800
—j2Ha 6,000 *40JH 2 +63 1,440
oXYASEM AINHE E2EE ME 3,120
-208 840
200,000 *4 I 2~ *33| 2,400
— 2kt 6,000 *40JH 2 +33] 720
SXILAMEINEN HE EL A+ MHE
4,4002 *1,000% 4,400
SXIYA MRS L OS] 2k 448
80& 40,0004 3,200
o XAl JtAAHE 018 =2
80&+360,00024 28,800
2 S=29| 5,688 5,688 0
03322 2 HMAl 5,683
o XAl Rt 22X HIAIXI &5 3o
MNEZ 50,0003 «1CH*12& 600
SXIAl ROy X HAX H&2
10.62 40,0002+ 12& 5,083
NSEE MAAAR 22| 2F 162,061 220,972 A58,911
201 B2 AY| 56,436 71,580 A15,144
2 S=29| 56,436 55,080 1,356
OAEEHIR XU 56,436
oXIYAl SEMLMEH R B+
1,500,000& 123 18,000
SIIAAHE SEHAIAY X B+
753,330 x 123 9,040
CHIYSE MSAELE U R0IALIAAE
S INE=E 1,481,660« 12 17,780
oNE RIMHIAAAE RX| B
963,000« 12& 11,616
202 0idl 740 1,120 A380
01 =WHO4 LI 740 1,120 A380
Og -9 -3 NgM datz=z0d 24e] XI&(
SNH HLl) 20,0003 =2H 1«83 320
OXISA Ma=Z2 e 22| XS (ZH, A
™) 50,0003 x2H 2 *13] 200




SA: HED
3 UM 2(LSSHF/NLSEE - WEXH)
Sl XAl BE U NLANE 25 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXIZAl MaZ208 2F22| us
10,0002 x 12 +22+13] 220
308 AXIHSO0IA 91,885 8,829 83,056
183 S| 2SO U ZB&HAEAIE 91,885 8,829 83,056
020243 XILNEES MG (2, =X2al) 91,885
SNUEZXNLHNZRAAEY 2, 27|
2t/ 91,884,570 *14| 91,885
405 AHaHE S 13,000 9,100 3,900
01 AL =S F=HI 13,000 9,100 3,900
O% NYAM d2s Moty UM 13,000
cHRE BFE(PC) 1,300, 0002 * 10CH 13,000
HH2SZHI(ME D) (O1EH/IIEH 454,330 458,292 A3,962
el 2| 31,623 29,672 1,951
el 24| 31,623 29,672 1,951
101 @124H| 31,623 29,672 1,951
FEEESESPTESEED RS 31,623 29,672 1,951
OARRIeI2R4Y
14,6403 +x6H+20A| 2H+ 12 x150% 31,623
Jl=23H| 422,707 428,620 A5,913
JI=23Hl 422,707 428,620 A5,913
201 fer=2 3| 409,118 414,340 Nb,222
01 AtR2tc|HI 49,118 54,340 Nb,222
OYLBtEgH| ZoUH A
20,254,000 * 14! 20,254
O=<tl SHA4 28,864,000 x 14! 28,864
02 s5=34l 360,000 360,000 0
O3323 % MAl SUAH
360,000,000 * 14 360,000
202 04| 8,069 8,700 631
01 2K 8,069 8,700 AB31
FAEY SHAH 8,069,000 * 14 8,069
203 gF=4| 5,520 5,580 260
M EASHLRFAH 5,520 5,580 260
ONIEH42Y)
(400,0002+(5,0002 12 ) )+ 122 5,520




